
–  

,    

HuskyTM 2150   
 3A8165ZAZ

KO

   2  AODD .      .

     (3 )  .

120 psi(0.8 MPa, 8 bar)    
120 psi (0.8 MPa, 8 bar)    

  

  
     . 
   .

03940B

II 2 GD
Ex h IIC 66°C...135°C Gb
Ex h IIIC T135°C Db

ATEX T     
  .    

    . 
      
  . 



2 3A8165 

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 3

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 4

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 6

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 12

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 13

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 14

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 15

    . . . . . . . . . . . . . . . . . . . . . . . . . 15

     . . . . . . . . . . . . . . . . . . . . . . . 18

   . . . . . . . . . . . . . . . . . . . . . . . . 19

      . . . . . . . . . . . . . . . 22

   . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 24

    . . . . . . . . . . . . . . . . . . . . . . . . . 26

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 27

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 32

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 33

  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 36

Graco   . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 38



 3A8165 3

*      (24 )  .

: Plus     .

 

*DF3______  
*DG3______  , 
*DFH______   
*DGH______   , 
*DF4______  
*DG4______  , 
*DF6______   
*DG6______   , 
*DFC______  BSPT 
*DGC______  BSPT , 
*DFD______  BSPT 
*DGD______  BSPT , 
*DFF______   BSPT 
*DGF______   BSPT , 
*DFG______  BSPT  
*DGG______  BSPT  , 
*DFP______ ,  ,  
*DFR______ ,  ,  
*DV4______  Plus 
*DVD______  BSPT Plus 
*DVP______ ,  ,  
*DVR______ ,  ,  
24B782  ,   
24B783  Plus ,   
24B801  ,   
24G413  BSPT,   
24J360  ,   
25A018  ,   , SST 
25A149   ,   , PTFE 
25A150   ,   , Geolast 
25A151   ,   , Santoprene 
25C658  , SST  ,   (  )

   
25C659  ,   ,   (  

)    
25C660  , SST  ,   (  )

   
25C661  ,   ,   (  

)    
26C240 DFC911  , SST    



4 3A8165 

  

        
      .

        
    .

  

,  ,       ,       
         , ,     

  .

•      .   .     
 ,     .

•      .     .  
 Graco   .

•   .        .

•       (36 )        
.

•           .  
120psi(0.8MPa, 8bar)      120psi(0.8MPa, 8bar)     

.

•       (36 )      
.          .

•       .     
 .        (12 )  . 

 .           
.



 3A8165 5

 

            
       .       
    .

•      .     .

•               .

•     .     ,    
  .

•              
.

• ,              
.          .   

(11 ))  .

   

       .     
  .          ,    

         ,      
 .

•               
.             

. (6 )  .

•              
.     .    

   .

•           . 
         .   (11 ))  

.

•     .       
.

  

  1, 1, 1-   ,     
     .        

  ,   /       .

        .



6 3A8165 

 

        
      . 

      Graco 
   (  )  .

    Graco  .

        27-28
   .

   .     
  (103)     

 .  3(10 )  .

    

       
 .  (32 )  .
     .  

       
    .

    

     
  .    

   , ,     
     .   

   .    
  .

   ,   ,
  .    
   .

1.  :    .

2.   :

a.       
.

b.     .  
   .    

  .

c.    .

:       25%  
  .

3.   :    .

   ,   
      

 .      
   .

         
.   ,   

     .

Graco      
      .

       
        .
        

    .   
.

 :  1.  (W)  .   

 12 ga(1.5 mm2)  (Y)    
   .   

 
 
 ,     , 

      
   . 
      

.     
   (12 )  .

 
   

   .  
      

.    (4 )  
.



 3A8165 7

  .   238909  
   .

 1 _______________________________________

    :  (  150 m(500 ft)
  )     
.

  :    .

     :   
.     . 

       
   .

   :   .

   , ,     
      .

       
  .

   ,   (2),  , 
         

 .

     236452      
  .

 

1.  2      .. 
   .  

     .

a.      (C)
  .   

   .

b.      (B)
     .  
 .     

    (E)   
        

.

c.   (F)     
    .

2.  1/2 npt(f)   (N)  
    (A)  . 

2  .  1/2 (13 mm) (ID)
  .    (D)

  (A)       
     .  

   (D)    
.

    

1.   .     
  .

2. 1/4  O.D.      
(14)  .

      . 
          

 .   (11 )
 .

02646B

 

Y

W

 
   (B)    

       .
        
       ,
        

    .  2  .



8 3A8165 

:   .    
    .   1/8  npt 

 .

3.      ( : Graco Cycleflo
(P/N 195264)  Cycleflo II (P/N 195265) )

 .

  

1.    (G)  . 
  2  npt(f) .   

  .

2.        
25%        

       .

3.    15 psi (0.1 MPa, 1 bar)  
   .

4.   (   )    
(36 )  .

  

1.    (L)  .  
 (S)  2  npt(f) .   

  .

2.      (J)  
.   .

3.    (K)  .

 
  (J)      

 .      
         
    .   

  .  2  .



 3A8165 9

 2 ________________________________________________________________________________________

03943B

Y J

FB EC

A

D

K L

G

H

R

S

N

   

A   
B    (  )
C  
D    
E   ( ) 
F   
G   
H  
J   ( )
K   
L  
N 1/2 npt(f)    
R 2 npt(f)    
S 2 npt(f)    
Y ( ,   6  )



10 3A8165 

      

       
  .  (32 )  

.

 npt, bspt,  ANSI/DIN    
  .

   ( )    . 
 (32 )  .

   ( )    . 
 (32 )  .

 3 _______________________________________

  

R 2  npt(f)    
S 2  npt(f)    
V  

  112119, 

        .

     .

     .

 4 ______________________________________

N    
P    

 3/4 npt(f) .

101 
102   
103   
106    
112   
(   )

1

2

03940B

N

P

1

103

102

101

106

112

2106

2

  

       
       
   .  4  .

     
 .     
       

  (     
 )       .

 Husky      
      ,  

      
  .

1

2

3

R

S

1

2

V

3

03941B



 3A8165 11

     3/4 npt(f) .   
.       
.

(P)         
   PTFE    

  .

 :

1.     (P)  .

2.    (T)     
  (P)  .   

  3/4 (19 mm) ID . 4.57m (15ft)
        

.      
 .  5  .

3.       
     (U)   .

 5 ________________________________________________________________________________________

 
   :  

       
   (5 )    

  .

      
.       

, ,       
    .

      
   .      
    .  5  

.

03942

F BE C

A

D

P

T
U

   

A   
B    (

 )
C  
D    
E   ( ) 
F   
P 
T   
U   



12 3A8165 

    

  .   
       
 .      

.

   

1.     .
(6 )  .

2.      .  
       

.      .

3.  (  )    .

:        
 25%        
       .

4.  (L)       .

5.   (J)  .  2  
.

6.   (C)     
  (B, E)  .

7.         
  .

8.      (C)  
 .      

    .

       
     .  

 .     
  .

   

1.  2        1~7
.

2.  (C)  .

3.  (14)      
  .

:        
      . 

    3    
       

 .

 

   ,   , ,  
     .

 

1.    .

2.     .

3.       , 
    .

 
 
 ,     , 

      
   . 
      

.    
    .

 
     1   

  .   .  
    .

 
       

   ,    
 ,    ,    ,

, ,       
.



 3A8165 13

      
     500  (  )
       

   .

  

       
     . 

        
(12 )    .  

 .

  

      
  .    

    .  
.  .   
      

   .  (32 )  
.

  

       
.      

  .

   .  
      

 .     
 .



14 3A8165 

 

:          .

 
          ,     , 

   ,    , , ,      (12 )  .

   

  

 .

  (301), (201)  O- (202)  
.

. 18  .

  

  

.

     .    . 15~16
 .   .

 (301)    (201) 
(102  103)    .

  . 18  
.

   (301)  (201)   
 .

  (10  ).

   .   .

  

.

  .  .

  (301)     
.

  . 18  
.

 . . 19~21  .

 .  .

  .   . .

 . . 19~21  .

 (102)  ,  
(201)    O- (202)  .

 (106)   (201)  O-
(202)  . 18  .

  (107)  .  . 19~21  
.

O- (108)  . . 19~21  .

   

.

 . . 19~21  .

  (107)  .  . 19~21  
.

O- (108)  . . 19~21  .

   

  .

   (7), O- (6), (8), 
 (18), U (10)    O- (17).

 . 15~16  
.

 (402)  . . 19~21  .

   

.

  (2)     (3)  
.

 . 16  .

  (4)    (22)  
.

 . 15~16 , 22~23
 .

  (3)  .  . 22~23  .

   

 .

(102, 103)  ,  
(201)    O- (202)  .

 (106)   (201)  O-
(202)  . 18  .



 3A8165 15

  

 

  

 Torx(T20)   7mm(9/32 )  

   

 O-  

   ,   111920 (Lubriplate 
630AA  )

:     236273(   )
 255061(   )    

. 27  .    
( : 4†)   .    

    .

1.  (12 )  .

2. Torx(T20)   7mm(9/32in.) 
   (3),   (2), 

(4)  .  6  .

3.  (5)      
  .   (7)  O-

(6)  .     
 (18)      . 

 7  .

4.    (11)  (12) 
 .  U  (10)  

.  (16)  (15)   .
  O- (17)  .  8  

.

5.  (8)    . 
 , Torx(T20)  7mm(9/32

in.)      (3)  
.  (8)  (   
  ) (9)  .  9  

.

6. (12, 15)  .  8  .
   ,  

 .      . 22
 .

7.      . 
 . 16    
 .

 6 ______________________________________

 7 ______________________________________

03944

 3

2

4

2

 5.6-6.8Nm (50-60in-lb)  .2

03945

18

5 1

7

6

5

2

3

3

11

  16  
 

    
.

  .

1

2

3



16 3A8165 

 8 _______________________________________

 9 _______________________________________

1. (12, 15)   , 22   
  .   .

2.        
  (9†)  .     

   .  9  .

3.   (8)  .  
   ,    

       .
Torx(T20)  7mm(9/32in.)  

    (3)  .  
    .  9  

.

4.   (16)  O- (17†)  .  
O-   . (15)  ,   

  .  8  .

5.   (11)  U  (10†)  
       

 .  8  .

6. U  (10†)   (11)  
. (12)     

  .     
 .  8  .

7.  (18†)     
 (16)        

.  7  .

8. O- (6†)     (7†)  
.  (5)   .  

  .  7  .

9.  (5)    (11)
      .  7

.

10.  (4†)  (2)   (1)  
   . Torx(T20) 

 7mm(9/32in.)     
(3)  . 5.6-6.8N•m(50-60in-lb) 

 .  6  .

0394617 16

11

10

12

15 12

3

4

2

     .

  .

  (11)      
.

     .

1

2

3

4

03947

8

9

3

1

2

     (   
  ).

     
 .

1

2



 3A8165 17



18 3A8165 

   

 

  

 10mm  

 O-  

:     .   
   26  . 

   ( : 201*)   .
       

.

:  (301)      
  (201)  .

: (  ) (115)     
    O- (116)  .

1.  (12 )  .   
.

2.    .

3. 10mm     (103)
 (101)    4 (106)  
.  10  .

4.  O- (202), (201), (301)  
.

:   O- (202)   .

5.    (102)  .
 (101)  O- (202), (201), (301)

.

1.      . 
   .

2.    (   10)  
.      

  .  (101)  
  (A)    (103)

  .  10 _____________________________________
TI0352B

106

103

101

A

*201

*301

106

102

201*

301*

2

1

1

*202

202*

3

3

4

4

113 5

117

103

*301

*201

*202

115

116

101

TI2233A

   ( )    .

  120-150in-lb(14-17Nm)  

.      190-220in-lb

(22-25Nm)  .  (32 )  

.

 (A)    (103)  

.

     .

    (301)   .

   .

1

2

3

4

25

  



 3A8165 19

 

 

  

 10mm  

 13mm  

 15mm  (  )  1”  (
 )

 19mm   

 O-  

   ,   111920 (Lubriplate 630AA
 )

:     .   
   26  . 

   ( : 401*)   .
       

.

1.   (12 )  .

2.   16     
  .

3. 10mm  13mm     
(101)   (23)   (106  112)

 .  (101)    
.  11  .

 11 _______________________________________________________________________________________

23

101

A 2

B

1106

112 1

03949B

   ( )    . 8  
(112)      (106)   .

190-220in-lb(22-25Nm)   .  (32 )
 .

 (A)    (B)   .

1

2



20 3A8165 

4.   15mm  (   
 1 )     (107)
    . :  
    .

5.  (24)     O-
(108),   (105), PTFE 

(403, PTFE  ), (401),
   (104)  

.  12  .

     
     .

      
    .  

(20)   (25)  .

6.  (1)     
 (24)   . 19mm 

     (107)  
.    .

   (1)   
   (24)  
. 19mm     

      
   .

7.     (24)
.   (19)  

 .   , 22
.

8. O-    (1)    U  
(402)      .  
(19)     .

9.      . 
   .

1.  U  (402)    
(1)   .  . 
12  .

2.   (24)    
 .   

    G  .

a.  (107)  O- (108*)  .

b.   (105)    
(401)     

.

c. PTFE  , PTFE (403*)  
. AIR SIDE     

(1)   .

d.  (401*)  . AIR SIDE
    (1)  

.

e.   (104)    
(401)    .

f. (107)   ( )   
   (24)   

.

g.    (104)
(403)  .  

     .
 ( )    

  . (24)  
   .

3.  (24)     
 (1)    .

4. 2       
 .

5.    (107)    
  100rpm  20-25 ft-lb(27-34 Nm)  

 . :    
  .

6.  (101)   (1)   
(A)   (B)    

 . (106  112)    
 .  (112)      

 .  11  .

7. 13mm     (112)  
 190~220 in-l (22~25 Nm)   

.  , 10mm     
(106)  .  (32 )  

.

8. 18       
.



 3A8165 21

 12 _______________________________________________________________________________________

03982A03981A

24 104 401* 403*

107

105 19 402

11

12

3
3

4

5

6
7

,   ,   

03950B

24
104

403*

401*

108*

107

24

3

3

1

4

4

5

6

105 2

7

  (1)  .

   (401)  .

    (1)  .

  .

  ( )    .  100 rpm
 20–25 ft-lb(27–34 N m)   .

 PTFE    .

    (401)  .

1

2

3

4

5

6

7



22 3A8165 

    

 

  

 10mm  

  

 O-  

     

:     .

1.   (12 )  .

2.   18     
  .

3. 19        
 .

:   (19)   , 4
 .

4. 15      .

5. 10mm     (23)   
(1)   (25)  .  13

 .

6.   (22)  .  
  .

7.      
(19),   (12),    
(15)  .    

.

8.   (19)   O-  
  (1)    U  (402)  
   .  . 

 12  .

1.   U  (402)   
 (1)   .

2. (12, 15, 19)     
 .    (1)  

 .      
      

 .

3. 16      .

4.    (22)    (1)
   (16)    

(H)     .

5.  (23)    (16)   
     ,  (M)  

. (25)    .  13
 . 10mm    
  120~150 in-lb(14~17 Nm)  
 .

6. 19      
 .

7. 18       
.



 3A8165 23

 13 _______________________________________________________________________________________

03951

25

2322

1

19

15

12

16 H M

1

1

1

2

2

2

3

1

03952B

     .

     (1)    
.

   ( )    . 
120-150in-lb(14-17Nm)  .

1

2

3

    



24 3A8165 

 

Husky 2150 ,     ,  A 

      .        
   6   .     D  Husky   .
 5     .

       ,  , PTFE   PTFE     
 D F 3 9 1 1 .     (27  28 )  .   
   (27  28 )      .

246452     
 246452    309643(  )

      
 .

 
  -

25C658 sst sst - sst PTFE  
PTFE/EPDM25C659 sst - sst PTFE

25C660 sst sst - sst PTFE

25C661 sst - sst PTFE

D (  ) F  
( )

1 (  ) - 1 (  ) 1 (PTFE) 1 (PTFE)

24B782* G 
( )

2 (  ) - 2 (  ) 2 ( ) 2 (  )

24B783* V SST ( ) 3 ( ) - 3 (316 sst) 3 (  ) 3 (  )
24B801* 4 (sst) - 4 (17-4 PH sst) 4 (440C sst) 4 (  )
24G413* 5 (  ) - 5 (TPE) 5 (TPE) 5 (TPE)
26C240* 6 (  ) - 6 (Santoprene®) 6 (Santoprene®) 6 (Santoprene®)

C (  
BSPT)

- 7 ( -N) 7 ( -N) 7 ( -N)

D (sst BSPT) - 8 (  ) 8 (  ) 8 (  )
F (   

BSPT)
- 9 ( )

G (  
BSPT )

- G (Geolast®) G (Geolast®) G (Geolast®)

H (  ) H ( /sst) N ( )
P (sst  

  
,  
)

R (sst  
  
,  
)



 3A8165 25

* 24B782  
         

  DF3311  .

* 24J360  
         

  DF3321  .

* 24B783  Plus 
         

  DV4311  .

* 24B801  
         

  DF4311  .

* 24G413  
         

  DFC311  .

* 25A018  
         

  DF3341  .

* 25A149   
         

  DF6311  .

* 25A150   
         

  DF63G1  .

* 25A151   
         

  DF6361  .
* 25C658  

         
  DVR315  .

* 25C659  
         

  DFR315  .

* 25C660  
         

  DVP315  .

* 25C661  
         

  DVP315  .

* 26C240  
    SST   

 DFC911  .

 
 

104 15H811 ,  , 2
105 ---  0
107 ---  0
108 ---  0
401 253628 , HD, , PTFE/EPDM 2



26 3A8165 

  

Husky 2150    ,  A 

    .           236273, 
      255061  (27  ).      

   ( : 4†)   .

,            6   
.     D      0( ) .  4     . 

     ( : 201*)   .

 ,   , PTFE   PTFE      D  0  F  9  1  1  
 .       (28~30 )      .

  25P267: Husky 2150 HD  PTFE/EPDM   .

  289226: Husky 2150 HD  PTFE/EPDM   ,    
.

  

 2150        234019  .   2 (50.8mm)
npt  bspt    .   Wilden  ARO      

    .

 
Null  O- -

D (  ) 0 (  ) F (PTFE) - 0 (null) 0 (null) 0 (null)

- 1 (  ) 1 (PTFE) 1 (PTFE)

- 2 (  ) 2 ( ) 2 (  )
- 3 (316 sst) 3 (  ) 3 (  )
- 4 (17-4 PH sst) 4 (440C sst) 4 (  )
- 5 (TPE) 5 (TPE) 5 (TPE)
- 6 (Santoprene®) 6 (Santoprene®) 6 (Santoprene®)
- 7 ( -N) 7 ( -N) 7 ( -N)
- 8 (  ) 8 (  ) 8 (  )
- 9 ( ) B (2 , 

Santoprene®  
 PTFE)

- G (Geolast®) G (Geolast®) G (Geolast®)

H ( /sst) N ( )



 3A8165 27

*     ( )   .
      (26

)  .

†       236273(  
 )( )   .

■       255061(  
  )( )   .

          
.

‡       .

DG _ _ _ _ 

     .  106  
    20 .

1

2

3

4

5

6
7

8
9

10
11

12

15

16
17

18

19
20

22
23

24

25

101

102

103

104

105

106

107108*

110

111

112

201*

202*

301*

401*

402

403*3

16
17

11 10

106

106

*201

*301

1

1

202*
1

13

14

1132

TI0353B

1

  

     

   

1

2

TI2233A

117

103

*301

*201

*202

115

116

101

 



28 3A8165 

   (   2)

  

F 1 188838 ,  1

2 188854 ,  , 1

3 116344 ,  , ; 
M5x0.8; 12mm(0.47 )

9

4† 188618 , , 1

5 188855 , 1

6† 108730 O- , 1

7† 188616 ,  , 1

8 188615 ,  , sst 1

9† 188617 ,  , 
-N

1

10† 112181 , U , 2

11 188612 , , 2

12 188613 , , 2

13‡ 104765 ,   2

14‡ 115671 , , 2

15 188611 , , 2

16 188610 , , 2

17† 157628 O- , -N 2

18† 188614 , , 1

19 188609 , , 2

20 116343 , 1

22 188603 ,  , 2

23 189300 , , 2

24 189304 , , sst 1

25 115643 , M8x .25; 25mm 12

402 112181 , U , 2

  

G    F  

1 195921 , , , 1

23 195919 , , 2

V    F  

1  15K009 , , 
 

1

2 15K696 ,  , 1

8 15H178 ,  , 1

9 - - -

23 15A742 , , 2



 3A8165 29

   (   3)

– – – .

 

 

3 101 15A612 , , 2

102 189302 , , 1

103 15A613 , , 1

104 189298 ,  , 2

105 262025 ,  , 2

106 115644 , M10 x 1.18; 30mm 24 
 

20Z

107 189410 , M12 x 1.75, 55mm 
(2.17 ), 316 

2

108* – – – O- , PTFE 2

110 188621 , 1

111 102656 1

112 115645 , M10 x 1.50, 
90mm(3.54 ), 

8

115 15B131 , 2150 2

116 106260 , O-  PTFE 
M10x1.5;90mm

2

117 112417 , , 4

 

 

4 101 194279 , , 316 2

102 194280 , , 316 1

103 194281 , , 316 1

104 189298 ,  , 2

105 189299 ,  , 316 2

106 112416 ; M10 x 1.38;

35mm

24

107 189410 ; M12 x 1.75;

55mm(2.17 );

316 

2

108* – – – O- , PTFE 2

110 188621 , 1

111 102656 1

112 112543 ; M10 x 1.50; 1

10mm(4.33 );

8

113 114862 , M10 8

6 101 191541 , ,  2

102 191542 , ,  1

103 191543 , ,  1

104 189298 ,  , 2

105 262025 ,  , 2

106 112416 ; M10 x 1.38; 35mm 24

107 189410 , M12 x 1.75, 55mm 
(2.17 ), 316 

2

108* – – – O- , PTFE 2

110 188621 , 1

111 102656 1

112 112543 ; M10 x 1.50; 
110mm(4.33 ), 

8



30 3A8165 

   (   3)

 

 

C 101 15A612 , , 2

102 192086 , , 
, BSPT

1

103 15A614 , , 
, BSPT

1

104 189298 ,  , 2

105 ,  , 2

262025

189299 SST

106 115644 , M10 x 1.18; 30mm 24

107 189410 , M12 x 1.75, 55mm 
(2.17 ), 316 

2

108* – – – O- , PTFE 2

110 188621 , 1

111 102656 1

112 115645 , M10 x 1.50, 
90mm(3.54 ), 

8

D 101 194279 , , 316 2

102 195576 , , 316 
, BSPT

1

103 195577 , , 316 
, BSPT

1

104 189298 ,  , 2

105 189299 ,  , 316 2

106 112416 ; M10 x 1.38; 35mm 24

107 189410 , M12 x 1.75, 55mm 
(2.17 ), 316 

2

108* – – – O- , PTFE 2

110 188621 , 1

111 102656 1

112 112543 ; M10 x 1.50; 
110mm(4.33 ), 

8

113 114862 , M10 8

 

 

F 101 191541 , ,  2

102 192088 , ,
 , BSPT

1

103 192089 , , 
 , BSPT

1

104 189298 ,  , 2

105 262025 ,  , 2

106 112416 ; M10 x 1.38; 35mm 24

P, R 101 194279 , 2

102 17N102 , , 1

103 , , 1

17N103

17N153

104 189298 ,  2

105 189299 , 2

106 112416 24

107 189410 2

108 – – – O- 2

110 188621 1

111 102656 1

112 112543 8

113 114862 8

– – – .



 3A8165 31

  (   4)

O-   

  (   5)

  (   6)

 

 

3 201* D0F300 , 316 4

4 201* D0F400 , 174 4

5 201* D0F500 , TPE 4

202  0

6 201* D0F600 , Santoprene 4

7 201* D0F700 , -N 4

202  0

8 201* D0F800 ,  4

202  0

9 201* D0F900 , 4

G 201* D0FG00 ; Geolast 4

 

 

202 26B352 O- , PTFE 4

26B353 O- , FKM 4

 

 

1 301* 112359 , PTFE 4

2 301* 112363 , 4

4 301* 112360 , 440C SS 4

5 301* 112745 , TPE 4

6 301* 112361 , Santoprene 4

7 301* 15B492 , -N 4

8 301* 15B491 ,  4

G 301* 114753 , Geolast 4

H 301* 15H834 , /sst 4

 

 

1 401 – – – , , 
(CR)

2

403 D0F001 -H1 PT 2

108 – – – O- , PTFE 2

5 403 D0F005 -H1 TP 2

108 – – – O- , PTFE 2

6 403 D0F006 -H1 SP 2

108 – – – O- , PTFE 2

7 403 D0F007 -H1 BN 2

108 – – – O- , PTFE 2

8 403 D0F008 -H1 FK 2

108 – – – O- , PTFE 2

B 403 24F399 -H1 PS 2

103 O- , PTFE 2

G 403 D0F00G -H1 GE 2

108 – – – O- , PTFE 2

N 403 25U697 -H1 CR 2

108 – – – O- , PTFE 2



32 3A8165 

 

 

  DF3___, DG3___, DFH___, DGH___, 
DFC___, DGC___, DFG___, DGG___ 

        
.

1. /   
190-220 in-lb(22-25 Nm)   .

 

2.   
120-150 in-lb(14-17 Nm)   .

 

3.  
120-150 in-lb(14-17 Nm)   .

 

    

  DF4___, DG4___, DF6___, DG6___, DFD___, 
DGD___, DFF___, DGF___, DV4___, DVD___, 
DVP___, DVR___

        
.

1. /   
190-220 in-lb(22-25 Nm)   .

 

2.  
190-220 in-lb(22-25 Nm)   .

 

3.  
190-220 in-lb(22-25 Nm)   .

 

12

11

1

2

3

4

5

6 7

9

8

10

15

16

13

14

17
19

20
18

12

11

1

2

3

4

5

6 7

9

8

10

15

16

13

14

17
19

20
18



 3A8165 33

7440B

C

J

F HG

E

B

K

45

D

D

L

M

    
 0.625

(16mm)  4

1/2 npt(f)  

3/4 npt(f) 
 

(  
)

 
6.25

(158.8mm)

  2 (50.8 mm)

6.0
(152.5mm)

     
   B, C, F, G, H  M

  1/4 (6.3mm)  
   .



34 3A8165 

     

  

    
   B, C, F, G, H  M

  1/4 (6.3mm)  
  .

C

F G

J

H

B N

LD M

H

E P



 
3A

8165 
35

 

 

 

 
  

*

 

(SST )

 OR SST 
SST 

  

 

 

SST 
 SST 

SST 
SST 

 

mm mm mm mm mm mm mm mm
B 9.0 229 9.1 231 9.4 238 8.7 221 9.7 245 9.0 229 9.4 238 9.7 245
C 12.9 328 12.9 328 15.2 385 17.2 437 12.9 327 12.9 328 15.2 385 12.9 327
D 6.0 152 6.0 152 6.5 165 6.5 165 6.0 152 6.0 152 6.5 165 6.0 152
E 17.5 443 17.4 442 18.1 459 18.1 459 18.5 469 17.5 443 18.1 459 18.5 469
F 19.9 506 22.9 581 22.3 565 22.3 565 19.3 491 19.9 506 22.3 565 19.3 491
G 21.9 557 24.9 632 24.9 631 26.8 681 21.3 542 21.9 557 24.8 629 21.3 542
H† 23.6 598 26.5 673 26.3 668 29.8/31.8 757/808 22.8 578 23.6 598 26.3 668 22.8 578
J 2.0 51 2.0 51 2.5 64 4.5 114 2.0 51 2.0 51 2.5 64 2.0 51
K 0.4 10 0.4 10 0.9 24 --- --- 0.6 14 0.4 10 0.9 24 0.6 14
L 6.0 152 6.0 152 6.0 152 11.0 279 6.0 152 6.0 152 6.0 152 6.0 152
M 6.0 152 6.0 152 5.8 146 5.8 147 7.0 178 6.0 152 5.8 146 7.0 178
N --- --- --- --- --- --- 7.2 183 --- --- --- --- --- --- --- ---
P --- --- --- --- --- --- 14.3 363 --- --- --- --- --- --- --- ---

*    Wilden  Aro       .       
 .

†     H          .



36 3A8165 

 

   .....................................................................................................................120 psi(0.8 MPa, 8 bar) 
   .............................................................................................20~120 psi (0.14~0.8 MPa, 1.4~8 bar)
   .............................................................................................................................................. 175 scfm

70 psi (0.48 MPa, 4.8 bar)/60 gpm    ....................................................................60 scfm(  )
    ......................................................................................................................... 150 gpm (568 l/min)
   ................................................................................................................................................... 145 cpm

( )   ...................................................................................................................................1.03(3.90)
   ..................................................................................................................... 18 ft(5.48m)   
    ................................................................................................................1/4 (6.3mm)

* 100 psi    (0.7 MPa, 7 bar) 50 cpm ........................................................................................90 dBa
*   ..........................................................................................................................................................103 dBa
* 70 psi    (0.48 MPa, 4.8 bar) and 50 cpm ..............................................................................85 dBa

   ...............................................................................................................................................1/2 npt(f)
   ................................................................................................................................................ 2” npt(f)
   ................................................................................................................................................ 2” npt(f)
 ........................................................................................   . 22~26  .

   ....................................................................  , 302  316 , ( )

  58 lb (26.3 kg)
      111 lb (50.3 kg)
           139 lb (63.0 kg)
    130 lb (59.0 kg)
       134 lb (61.0 kg) 
           162 lb (73.5 kg)

Geolast®  Santoprene®  Monsanto Co.   .
*    236452        . (ISO  9216   )

  

      .        .
        .        

       .

/ /  

  

-20 ~ 180 -29 ~ 82

-N 10 ~ 180 -12 ~ 82

FKM  -40 ~ 275 -40 ~ 135

Geolast -40 ~ 180 -40 ~ 82

 32 ~ 175 0 ~ 79

PTFE -40 ~ 180 -40 ~ 82

Santoprene -40 ~ 180 -40 ~ 82

TPE -20 ~ 150 -40 ~ 82

14 ~ 176 -10 ~ 80



 3A8165 37

 

 (gpm/lpm)    (psi/bar/MPa)
  (psi/bar/MPa)     

.

1.      .

2.       
 .

3.       .

 (gpm/lpm)   (psi/bar/MPa)  

  (scfm  m3/min)    
.

1.      .

2.       
.

3.      .

California Proposition 65

20
(76)

100
(7, 0.7)

100
(7, 0.7)

120
(8.4, 0.84)

80
(5.5, 0.55)

60
(4.1, 0.41)

40
(2.8, 0.28)

20
(1.4, 0.14)

25
(0.7)

75
(2.1)

50
(1.4)

100
(2.8)

125
(3.5)

150
(4.2)

0
40

(152)
60

(227)
80

(303)
100

(379)
120

(454)
160

(606)
140

(531)
0

A

B

C

D

D

A

B

C

 
       .

gpm 
(lpm)

 
A 120 psi  (8.4 bar, 0.84 MPa)

C 100 psi  (7 bar, 0.7 MPa)

C 70 psi  (4.8 bar, 0.48 MPa)

D 40 psi  (2.8 bar, 0.28 MPa)

 

 

 
 

 p
si

(b
ar

, M
P

a)
 p

si
 (b

ar
, M

P
a)

 
 s

cf
m

 (
m

3 /
)

 

 :      - www.P65Warnings.ca.gov.



                 .  
Graco            .

 .    . MM 308368

Graco : Minneapolis
 : , , , 

GRACO INC.   • P.O. BOX 1441 • MINNEAPOLIS MN 55440-1441 • USA
Copyright 2020, Graco Inc.  Graco   ISO 9001   .

www.graco.com  
 ZAZ, 2021  11

Graco  Husky  
Graco      Graco    Graco   ,        

       . Graco         Graco  
  (12)   Graco          . ,   Graco   

   ,      .

        , , , ,  , , ,   Graco   
    ,      Graco      .  Graco   
 , ,        Graco    , ,      
, , ,      ,     Graco   .

       Graco        .   
Graco        .        .    

         ,   , ,    .

                     
 .

   Graco          .   (  ,  
,  ,       ,          )   

.      2    .

Graco   Graco    , ,            
   .  Graco    ( :  , ,  )    

     . Graco           .

Graco     ,         , Graco       Graco
      ,      , ,       

 .

FOR GRACO CANADA CUSTOMERS
The Parties acknowledge that they have required that the present document, as well as all documents, notices and legal proceedings entered into,
given or instituted pursuant hereto or relating directly or indirectly hereto, be drawn up in English. Les parties reconnaissent avoir convenu que la
rédaction du présente document sera en Anglais, ainsi que tous documents, avis et procédures judiciaires exécutés, donnés ou intentés, à la suite
de ou en rapport, directement ou indirectement, avec les procédures concernées.

Graco 
Graco     www.graco.com  .

  www.graco.com/patents  .

  Graco       .
: 612-623-6921    : 1-800-328-0211 : 612-378-3505

http://www.graco.com
www.graco.com/patents

	목차
	모델
	기호
	경고 기호
	주의 기호

	설치
	일반 정보
	최초 사용 전 나사 조이기
	공동 현상을 줄이기 위한 팁
	접지
	장착
	원격 파일럿 에어 라인 설치
	유체 흡입 라인
	유체 배출구 라인
	유체 흡입구 및 배출구 포트의 방향 변경
	유체 감압 밸브
	배출 에어 환기

	작동
	처음 사용하기 전 펌프 세척
	펌프 시작 및 조정
	원격 파일럿 펌프 작동
	펌프 정지
	감압 절차

	유지보수
	윤활
	세척 및 보관
	나사산 연결부 조이기
	예방 유지보수 일정

	문제 해결
	서비스
	에어 밸브 수리
	볼 체크 밸브 수리
	다이어프램 수리
	베어링 및 에어 개스킷 제거

	펌프 매트릭스
	수리 키트 매트릭스
	확장 전환 키트

	부품
	에어 모터 부품 목록(매트릭스 열 2)
	유체 섹션 부품 목록(매트릭스 열 3)
	시트 키트 (매트릭스 열 4)
	O-링 키트
	볼 키트 (매트릭스 열 5)
	다이어프램 키트 (매트릭스 열 6)

	토크 지침
	알루미늄 펌프
	덕타일 아이언 및 스테인리스강 펌프

	치수
	기술 사양
	유체 온도 범위

	성능 도표
	Graco 정보

